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If she said, ‘I do not want’, is there an 77wy at all

Overview

The X 1) explains that by DIk we cannot say Iwyn X2 7m7 7wy (so he should be able to
marry a woman 17 7R 12Rw), since if she says, ‘I do not want to marry him’, there is no
nwy at all. Therefore it is not similar to the other cases of n"%7y.

mooIn asks:
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NI1Y 7'"97 asked, why did the X713 in the first 95 of n3s N2on require a P92 to teach
us that the 7wy N of honoring one’s parents cannot push away the "7 of doing work

on n:w,2 Seemingly we do not need a P05 -
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Since there is no 7wy, for if the parent said, ‘I do not want this honor’, there is no 7wy
at all -

N1D0IN answers:
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And one can say that nevertheless, there as soon as the father commands to do the
OXon there is an 7wy to do his command —

Mmoo offers an alternate answer:
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And it appears to me (N15010) that here (by 01X») there is no 7w Mx» for her to marry

him, for if she wants she can say, ‘I do not want him’ -
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Therefore she cannot transgress the 18> because of his 7wy, since she is warned just

! This bracketed Mmoo is an addendum from o°3w> N19oIN as indicated at the end of this Moo,
2 This means that if one’s parent requested that you do a 72891 which is forbidden on naw (like cooking), one may not
do it and we do not say n"7v. The X3 there (initially) derives it from the 109 (in 3,v° [2w17P] X7p"1) which states
71202 2°2°°17 0371 L MRwN SMN2W DRI IR 1IN IR WOR.
3 Just like here by D1x» she cannot marry him, even if they both want, for since she has the option of saying X1°vya X9,
therefore there would be no nwy at all, similarly here by naw, even if the father wants the 712°3, it should be prohibited,
since he could have said, ‘I do not want this honor’. What is the difference between these two cases.
4 In the case of naw the point of conflict between the 7wy and the 0" is as soon as the father makes the request, at that
point the child must comply, there is an 7w¥ that can only be accomplished by being 7m7 a n"%. In the case of 01X the
point of conflict is when he was 0ixn her, at that point she is not obligated to marry him, she can refuse; the 7wy is
provisional not mandatory. By naw he makes the 7wy and it is binding, by 01X the 7710 made an 7wy which is not
binding. X"72 %" 2.
> However by OX1 28 T12°3 thee is an Awy on the child to obey his parents.
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like him not to transgress a n"" -
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For the 7730 equated the woman to the man regarding all N7 nmx» as the X7 states in
nann ws pa0. This is a @%1ws nveIn taken from a manuscript.

Summary
mooin distinguishes between 01X% and 2377 712°3 being NAw 7mM17, by 7272 there is a definite

mxn to honor one’s parent, here the obligation to marry is on him, but not on her, for she
can refuse, so his M¥n cannot make her transgress her prohibition.

Thinking it over
Is our understanding that the mxn of AWK 7°7n X9 is only on the man, or is the M¥» on

both, except that she has the right to refuse marriage, and he does not (by 01K)?
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